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(2) Draw figure wherever nece'%\ \

(3 Figures in right indicate

ks, |
1 Answer in short : //\x/ 7x2=14

() What is Starvation ?/ N
r*d\\@h@Mghput time.

hich function it involves ?

s to be saved when context

(i) Define turnarou

(i) What is Dispatcher.7

(iv) What information nee
switching tak&\ place-?

(v) What do you n by race condition ?

(vi) What is Thrashing ?

(vii) Define seek anéi; atency time.

2 Do as 7+7=14

() ~What is semaphore ? Explain how does it solve the
<‘ ritjia]fs;@(:tion problem ?
OR
What is safe state ? Explain Banker's algorithm to avoid
adlock.
he page fault occurs, explain how the OS service that
_page fault.

OR
[/ \ .. R
\ m(u) Explain Inverted page table.

)
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Write short note : (any two) 7+7=14

(i) Disk space management

(i) Indexed allocation i~

(i) Segmentation with Demand paging. /,J{(
g

\\(\
Do as directed : 7+7=
(i) Consider the following set of processes with the Iengtwi\\\

of the CPU-burst time given in milliseconds and priority&

of the process (consider 1 as highest priority) : 7//
Process  Arrival Time Burst Time Priority \k\w ), )
Pl 0 —

10 3 - o
P2 1 17 1
M T A
P4 4 B

! YO

g (

~

()
Solve the following questions : [ \»/
Draw the four Gantt chart m%n the execution
ee i

of these processes, using SJF, ve Priority and
Round Robin (Quantum=5).,
What is the Waitingtime each process and

Average ?

Waiting time fo :S\li reemptive Priority and
Round Robin Algori\h(m.\\‘
(i) Suppose that di Fib\e\gd}rently serving at cylinder
112 and previou est-was at 156.
The queue /}ﬂ;——p,e,,ngjn order is :
18, 159, 51, 189,,92, 66, 12, 101
Starting\( g/gthe current head position, what is the
istance ﬂ\\t the disk arm moves to satisfy all the
g reques f})r each ofthe following disk-scheduling

S
ms (Agguming No. of total cylinder 0 to 199)

= —C-LOOK
Do as directed : (any two) 7+7=14
i rite a note on multilevel queue scheduling
I lain tree level directory structure
i rite a note on message passing system.
»;’
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